Multiplication et Division par 10 (D)

Trouvez chaque produit ou quotient.

49 - 10 = 4x10 =
27 x 10 = 6+10=
3x10= 73 x 10 =
44 x 10 = 62 X 10 =
37 +10 = 97 - 10 =
81 x 10 = 32 %10 =
76 - 10 = 82 +10=
69 - 10 = 1x10=
95 x 10 = 89 +~10=
27 +10 = 73 +10 =
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Multiplication et Division par 10 (D) Solutions

Trouvez chaque produit ou quotient.

49 +-10=49 4 x10=40

27 x10 =270 6+10=0,6

3x10=30 73 xX10=730
44 x 10 =440 62 X 10 =620
37 +10=23,7 97 +-10=9,7
81 x 10 =810 32 x10=320
76 -10=7,6 82 +10=28,2
69 +-10=6,9 1x10=10

95 x 10 =950 89+10=89
27 +-10=2,7 73+10=17,3
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